[eoluyoa)
WIS 89S

:dnysajy 4

'8 e}//:dnyuoirewoju

g-ny

=
Q
o
1
£
o
o1
S
Q.
Q
O
M
W
©
O
m
W
©
T
_|
<

*10|02//:dny 10 8p'u

ap‘uleg-ny

V L o Y M
http://farbe.li.tu-berlin.de/DEBY/DEBOLONA.TXT /.PS; only vector graphic VG; start output
N: no 3D-linearization (OL) in file (F) or PS-startup (S)

Qup(X;)=achromatic receptor response
} Qulx)=— b =2 in[L+

—]-b
12653 " " 220,50, b=1,00, e=2,718282

Q5 %)

L =28cd/m?

(x,)= achromatlc receptor response modified

(X) In[1 — ]-h
1% 1+2€%/3 " 420,50, b=1,00, e=2,718282
a=0,50"°=0,707

b=2,00
Q5 £%)

D jnp1+

5 -b
“Inv2 ]

T
12k

L ,=28cd/m?

%, =log[L/L ]

Qup(X;)=achromatic receptor responses modified

A Q)= b =2 in{1+

——1b
1+2e¥ /2 a=0,50, b=1,00, e=2,718282

a:l‘Oé)'Szl.OOO
=== b=1,00

-

Qab<x,)=ﬁln[1+ Ib

1 m—O 69

S
1+/2¢ /2

L =28cd/n?
i

X =log[L/L ]

Qp(X;)=achromatic receptor responses modified

A== b =1+ e

a=0,50, b=1,00, e=2,718282

a:O.25D‘5:0‘500

b 1
X, ) == N[1+ =——— |-b
Q)= T )

=0,69
1 oL
m, m—O 97,

L ,=28cd/m?

%, =log[L/L ]

Q%)= achromatlc receptor response modified

QX )— In[l+ —=——=1-b
T 1#2e4/a a=0,50, b=1,00, e=2,718282

a:l‘Oé)'Szl.OOO

st iy
1+/2¢ 7

L =28cd/n?

X =log[L/L ]

Q%)= achromatlc receptor response& modified

A Qu(x)=—Loinia+

= I-b
TTH2eN R a=0,50, b=1,00, e=2,718282

3:0,295:0‘500

b
12e /3

L =28cd/n?

%, =log[L/L ]
DEB90-5A
Qup(X,)=achromatic receptor responses modified

b 1
Qp(X;)=—==In[l+—=——]-b
T " Inv2 12653 " 220,50, b=1,00, e=2,718282

. -a 10& =0,707

=log[L/L ]

Q%)= achromatlc receptor response modified

A Q)= e -

—_— b
1W2e/3 " " 520,50, b=1,00, e=2,718282

0,
D ]
1

2 b=0,50
QX ) |ﬂ[1

TH2e" R

L =28cd/n?

DEB90-7A

DEB90-7N

og[L/L ]
DEB90-8A

Q,p(z )=achromatic receptor response
Qm(;) b In[l J-b 10% —gno) X 10%/nA0)_gx:
T a=0,50, b=1,00, e=2,718282
a'=aln(10)=1,151
10% /a’:loxr /[a\n(lo)]:ex, la

14721072

Qs £%)

L =28cd/m?

(z,)=achromatic receptor response modified

b
( ) In[1 - . ]-b
1l TH210778 © 420,50, b=1,00, e=2,716282

a'=aln(10)=1,151

4z)

0.500‘5:0‘707
a'=1,628, b=2,00)

Q5 £%)

bl[

-b
“Inv2 :

1
g

L =28cd/m?

4 z=log[L/L,]

Qup(z ) =achromatic receptor responses modified

b
( ) In[l ———1-b
Tl 147210472 a=0,50, b=1,00, e=2,718282

a'=aln(10)=1,151

a:l‘Oé)'Szl.OOO

b 1
= —In[1+ ———=1-b
Q)= I ]

|_ =28cd/n?

a'=2,302, b=1,00f

4 z=log[L/L,]

Qup(% ) =achromatic receptor responsei modified

b
( ) |n[1 ——]-b
Tl 14/210% /@ 2=0,50, b=1,00, e=2,718282

a'=aln(10)=1,151

b 1
= | —
Q)= il — L
] 01-0 69

1 0170 97
|_ =28cd/n?

4 zr log[L/L ]

Qab(;)—achromatic receptor responsek modified

_b
( In[l+ —=——1-b
L= Inv2 147210472 a=0,50, b=1,00, e=2,718282
a'=aln(10)=1,151 (P 5
a=1,00""-1,000

+ s |-b
147210472

L =28cd/n?

4 Zr log[L/L ]

Qp(z)= achromatlc receptor response& modified

(z)==—=In[1+ b
T Qulz In \/2 a=0,50, b=1,00, e=2,718282

a'=aln(10)=1,151

1H2107 I
’0,295:0‘500

PO S
14210472

L =28cd/n?

"
4 z=log[LL,]
DEB91-5A

Qab@)—achromatic receptor responseX modified

_b 1
( IN[1+ =—=—]-b
3z Inv2 1H210%"3 " 220,50, b=1,00, e=2,718282

a'=aln(10)=1,151

. -a 10& =0,707

.
4 z=log[LL]
DEB91-6A

Qab(zr)—achromatic receptor responsek modified

_b 1
(Z )il ——— 9
1%l Inv2 12105/ 220,50, b=1,00, e=2,718282

a'=aln(10)=1,151

In[l ,1 b
147210472

L ,=28cd/n?

1
= | 1+
Qb(zr) n[i+ TR’

L =28cd/n?

4 z=log[LL]
DEB91-7A

DEB91-7N

TUB-test chart DEB9; Model of receptor-response funct
logarithmic response functioi®,{z) and deviations with
M Y

ngx) and derlvatlons
dand 16a’; g'=g0.5

4 z=log[LL,]
DEB91-8A

ndino juud 1o Aejdsip Jo Juswainseaw pue uoleneAs 1o} uoledidde

Sd'/ 1X1'¥YN01693A/693A-T060T20Z :uonensibal ani

9p09 :[eudrew gNn.l




